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AEH 645,505 620,219 25,286
AZXH FOIMHMHA S 25} 267,442 245,406 22,036
AZXH FOIMET 267,442 245,406 22,036
AZXH FOXHUMEH 103,520 103,520 0
201 LBt HH| 1,000 1,000 0
03 SAIR2ZHI 1,000 1,000 0
OAxH SEOHMIIEHl XAl
1,000,000 x 1Al 1,000
301 LBt A 102,520 102,520 0
05 S-2-eEsEs2A2 101,520 101,520 0
O0l&=+=¢ 200,000& 2901 x12& 69,600
O0l&an2 200,000& 2901 x23| 11,600
OO0 &3 o &AL 20,0002 x2901 23| x 122 13,920
Oer&E=H| 50,0002 x 12821 6,400
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201 LBt HH| 28,000 28,000 0
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OBZ22YHA 14,000,000& x 14! 14,000
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OPAIRA Zoiat4T QAT AL
150, 000 *80m 12,000
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15,000, 000& * 14 15,000
Os2el =2 & X3 AHL=100m)
10,000, 0002 =14 10,000
Ox=<el s2 & X3 AHL=150m)
15,000, 0003 * 14 15,000
Oz Or2etd &3 AHL=100m)
10,000,000 =14 10,000
O%=2l =24 X2 AHL=100m)
10,000,000 =14 10,000
Ongel s2Z &3 AHL=200m)
20,000,000 =14 20,000
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10,000, 0003 =14 10,000
Oumstel =2 & X2 AHL=100m)
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O AL =2 L &2 AHL=200m)
20,000, 000& * 14 20,000
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15,000, 0003 =14 15,000
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15,000,000 *14] 15,000
03 A& =Y 2,160 2,160 0
OAlE =T8I 300,000,0002«0.72/100 2,160
AFH E2 34| 1,967 1,917 50
101 2I4H| 1,967 1,917 50
04 JIZtNZ22NHSE2+ 1,967 1,917 50
Oo==zzel(Hg) & &Z3Hl
43,7003 »501+9 1,967
AW A2 73,936 70,736 3,200
aZH 523y 38,081 49,511 211,480
AEW A2 38,031 49,511 A11,480
101 1Ay 38,031 38,031 0
01 2= 38,031 38,031 0
OAZt222+E 7,457 3 17213004 2 38,031
A~ZxH Jl=2dH| 35,905 21,225 14,680
A~xH Jl=23H| 35,905 21,225 14,680
201 e g 9,325 9,325 0
01 AF=2teld 9,325 9,325 0
ORNEZ =S 6,350,000 *14] 6,350
OF=3={[ 7,000 #1721%25 2,975
202 O4bl 2,000 2,000 0
01 =0l 2,000 2,000 0
OZ2 044 2,000,000 * 14! 2,000
203 =&y 11,480 0 11,480
01 Ja=2dgR=a| 6,600 0 6,600
OJl2E23g =AY 6,600,000 *19! 6,600
02 ZAINMHR=AHI 680 0 680
O &ML 2 =Y 40,0002 %17¢l 680
04 FANEIERFIH 4,200 0 4,200
OFNESYRFAY 350,000 122 4,200
405 KhakF SHI 13,100 9,900 3,200
01 MM =FFH=HI 13,100 9,900 3,200
OPC 1,400,000 =4 CH 5,600
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